Efficiency vs dr

x 0.
<
©0.09
2'0.08E
c
Q
50.07
=
%0.06
0.05
0.04
0.03
0.02
0.01
0

. [—=— DQMstep3_TT_CKF
—e— DQMstep3_TT_default

14

Ratio

—— DQMstep3_TT_defaultNEWT203

H B ”"""""H""P 1116 [

II||Ii|E|| )
TR E T CTETT YU i TETANT

107

1.2

| LR IR B LA LN LS RN

1]

[EnN
S
w
=
S
N

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
1Q

Ratio

1.

1

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

50.02 : : : . : :
o Eo : : : : ;
D018 i AR AR I

DEEEEE

3] - . . . . . !
T R R S SR
t . . . . . o

TP SN S N S SR S N

S T ST atts St S S
U SRR SO ST SRR ERSS e S
0

0.002
e

L * ------ -

[ A L LA LA LR

o ! T
§ 1.2 T .:H::Fa;- 1 -E:»— Tl ...
» T HITHH
1+ ARNNERRRRERES O S
20 30 40 50 60 70 80

[Eny



	Contents
	Page 1


